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For eachtﬂnctlon, state t‘ﬁe amplitude, period, intervals, and sinusoidal axis. Then graph

one period.

=8sin0 L
A amplotude =9
mplatu W__(_%.Q%,

paiod 2

¢, vntvals 2T
o o
'__C'J Sin® // h’u,{u;-}j adld
0 o~> o by g
™| oo
Ly R R
g &

> T
3. y=-3cos 20

S

A

(M0 '
(37,0)

2. y=-5sin46
o fes
0| 00
% J > -5
rloso
g s
I’L 930

4. y=-" sin20

Ao Ofm.p,@,”ﬂud_Q = \-SI;S
B4P-th}oaL - 20 _ 1

—"L_l: -
¢, intiavals ococn)
i

> -

e (30 5

A "1!-'\_\‘3!?,;.”'! Lﬂ.,\l‘i w l“gl =D A {J.x".;-ii_. ok - [ "*; lI “ %
) Dars 0K %ﬁﬂwir | B, ff‘wh'*'-‘&": -2 v
g L\ [ ‘,H;(’ S X Al U - ]
Q. Intuvobe poeuh £¥ {-J ”r..} O intewals Qegliis 2Ly {
X %1 g |
,,,,% .—Zr ) | @ gj]‘ ,l-
O -~ -3 v A 2
Ny 105 0 “l O =wo (0,0\’ I (H’U)
al L .- S L. "
’/a i2 23 i ‘ % P > e (1;;)0) X\
o | 5. Tl o j ) (T -y
m >3 PR EINC ¢/ 1 Mgy "
_ AN J s e ® |
5. y=2cos 36 1% \._b_;‘___‘f_j_ . 6 y=-2cos(%0)
. . [ (1 ! )
A, dan > datuida = o \_/’/ ¢ 3’07 A Q/h\...{f)l‘i-b'%t{ v Q= (‘“Q t e
. )
7 - o1 f -2, “ W -
¥ 3444 0 oM — . 0, WY S A T
%, DAL 5 3 PJ, nY-Y-. il - an o = C\Tn
)
0. 1)y ed e Qe W—’“‘uf O, int e 80 ELLAD QAL 94 ()
e AT n
P B & ¢
,l‘{ | J« (.é /’( ’ 7 fﬂ .
) F_Zf_ B O | I=-p
o l -2 ATT 10 . o
e 18 #p “TT [ = 2
,.‘!,b =l 9 -y {,;' ” 2
Ey ¢ = 0 O ]r l b QO 9&-‘
>3 1 -




Pre-Calculus

period

1.

\—351n28

Name

Sin/Cos Homework
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For each function, state the amplitude, period, intervals, and Midline. Then graph one
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